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3HPELPELQJ������'U�<XOKHQGUL��6�3G��0�6L

3HQHOLWLDQ� LQL� EHUWXMXDQ XQWXN� PHQJDQDOLVLV� NRPSHWHQVL� SURIHVLRQDO� GDQ�
NRPSHWHQVL� SHGDJRJLN 0DKDVLVZD� 3HQGLGLNDQ� (NRQRPL 8QLYHUVLWDV� 1HJHUL�
3DGDQJ�� -HQLV� SHQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� GHVNULSWLI�� 3RSXODVL� SHQHOLWLDQ� LQL�
DGDODK� PDKDVLVZD� 3HQGLGLNDQ� (NRQRPL� DQJNDWDQ� ����� )DNXOWDV� (NRQRPL�
8QLYHUVLWDV�1HJHUL�3DGDQJ��\DQJ�WHUGLUL�GDUL�����0DKDVLVZD��VDPSHO�SHQHOLWLDQ�LQL�
EHUMXPODK����0DKDVLVZD� 'DWD�GLNXPSXONDQ�GHQJDQ GRNXPHQWDVL��GDQ�7HV�

+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNNDQ� NRPSHWHQVL� SURIHVLRQDO� GDQ� SHGDJRJLN�
PDKDVLVZD�MXUXVDQ�SHQGLGLNDQ�HNRQRPL�DQJNDWDQ������\DQJ�DNDQ�PHODNVDQDNDQ�
3/.� GDODP� NDWHJRUL� ³NXUDQJ´ GDQ� ³FXNXS´ NRPSHWHQVL� SURIHVLRQDO� WHUGLUL� GDUL�
PHQJXDVDL�PDWHUL�VWXNWXU�NRQVHS�GDQ�SROD�SLNLU�NHLOPXDQ�\DQJ�PHQGXNXQJ�PDWD�
SHODMDUDQ�\DQJ�GLDPSX��PHQJHPEDQJNDQ�PDWHUL�SHPEHODMDUDQ�\DQJ�GLDPSX�VHFDUD�
NUHDWLI�� 8QWXN� NRPSHWHQVL� SHGDJRJLN� WHUGLUL� GDUL 0HQJXDVDL� WHRUL� EHODMDU� GDQ�
SULQVLS�SULQVLS� SHPEHODMDUDQ� \DQJ� PHQGLGLN�� 0HQJHPEDQJNDQ� NXULNXOXP� \DQJ�
WHUNDLW� GHQJDQ� ELGDQJ� SHQJHPEDQJDQ� \DQJ� GLDPSX�� 0HQJXDVDL� NDUDNWHULVWLN�
SHVHUWD�GLGLN�GDUL�DVSHN� ILVLN��PRUDO�� VRVLDO��NXOWXUDO�� HPRVLRQDO��GDQ� LQWHOHNWXDO��
0HPDQIDDWNDQ�KDVLO�SHQLODLDQ�GDQ�HYDOXDVL XQWXN�NHSHQWLQJDQ�SHPEHODMDUDQ
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